1. ﬁﬁmmﬁﬂW%Mﬁmﬁﬁ
e e 11 8 o 3 e o 2
() ﬁﬂ;;:; HSSC CET Grol
@ Answer Key 21

“ (3) i 49
@ i 2023 2nd Shift
(5) <o T & =R

-Ip D{l] Tﬁrtiﬂr_‘? sector
Oct

When natural
forms 'r.‘hn'u.ug]_fr rﬂducta are chap
iﬂfajrﬁ af m ||'=_:'|u_|-_1 “'Im
known as : AN Ufaopy Other
turing, it -
p 1 -3

(2) Industrial sec,
(3) Primary sector
(4) Secondary secty,
(5) Not attempted

i
¥

2. wm#mﬁﬁﬁwﬂﬁ%mﬁm 2. In which district of
g7 Khajuraho Group of M'ﬁﬂaudh_;:;a Pradesh are
,-H'] T (1) Chhatarpur ments locateg o
2) “EER (2) Jabalpur
(3) TR (3) Gwalior
‘{41 ﬁf. ; (4) Indore
5) <t e o T (5) Not attempted
3. wEAd Fefare 4 9 ﬁmmm Ty E | 3 Which of the following is not part of the
i . Panchayati Raj system in India ?
: ' (1) Zila Parishad
(2) Gram Parishad
(3)  Gram Sabha
(4)  Gram Panchayat
.1 (8). Not attempted
4, Where is the National Gallery of Modem?
located ?
(1) New Delhi
(2) Kolkata
" {3) © Mumbai
. (4 Nagpur
(5) T A & \ . (5) Not attempted
5, s 2023 7 SR i 7 ¢ e | 8 Whom didIndia beat in the Finals of A
z W ZAe % g T 9 1 e fFA qr7 g‘;l;aﬂ?ﬁ}' Cricket Tournament held it the”
1:}} W fﬂ - (1) Sri Lanka
ﬁ] e (2) Nepal
i (3) Pakistan
(4) m"ﬁlﬂaﬂ iﬂ! Qe | ) Bangladesh r_.f
L (5) 4 B il '{5} Not attempted _-_"//
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b. In which year did the United Nations adopt
ﬂ'%ﬁﬁﬁﬁﬁﬁ'ﬁ ) the UN Guidelines for Consumer Protection ?
() 1985 (1) 1985
(2) 1990 (@) 1990
(3) lggﬁ (3) 1986
(4 1987 (4) 1987
(5) S & =R (5) Not attempted
&L )
TS S el fera i 7. Where is Salar Jung Museum located ?
(1) g {1 Mysore :
(2) T (2) Goa
(3) v | (3) Bhopal
@ wER (4)  Hyderabad
(5) W T == (5) Not attempted Z
8. Eiten SRR & Wi H Frevfafen wel w faEm 8. Consider the following statements about
) 1= R W A E 2 Democratic Governments. Which statement
(1) e S ST e F w9 8 W £ mok comenty
TR (1) Democracy is also known as
: i ive democracy
S m R, fi representative
@ 1 RIRER {2) Democracy guarantees universal adult
franchise
(3)  wiiaa H W 1 319 s ) Faffea we (3) Indemocracy people have power to elect
| SATHH B their leaders
Sl ! AT & F H o S S R (4)  Democracy is also known as Oligarchy
(5) SR E & = : ; (5) Notattempted
9. = e W 6 w2 9, Why Earth is called the ‘blue planet’ ?
() s 3o sea B (1) Because it has life.
(2) = gest &1 91 wiavm & afeek T H (2) Because more than 91% of the Earth is
m%l covered with water,
3 } (3] Because it is blue in colour.
@) o e ¥ (4) Because more than 71% of the Earth
i LT . : o O e barth1
At gt 171 o @ s T J covered with water. 2
= -;:-mﬁ ; i {5) Notattempted
(5] W
10. Inwhich year did Gandhiji arrive in Indi
10, il 2fgw swiE & v § e ad # amg e South Africa ? BAFTSE B
g7 . (1) 1917
1917 (2) 1921
(3) 1907
(4). 1915
(3) Not attempted
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i - or run by ©4
B ﬁ?ﬂﬁmﬂmm N Tt e e EJET:::MU:'::: rr:]r;y: ; ? n HT: ﬂ:ﬂ oot 'dmtll;: :‘;;
g S g wemn s 8, e e Uttar Pradesh, comes out in which
ik w2 language ?
(1) iy (1) Pishoni
(2) sdt (2) Awadhi
PO (3) Bundeli
(4) 99 (4) Tulu
(5) I 2 =R (5) Not attempted
: ‘hich turn red litmus into
- jmm = T e bl il e EE:& !:;‘urzstanﬂﬂﬂ 5 ;:n nature.
:'%E'Eﬁ il (1) Neutral
% A (2) Acidic or Basic
= oY (3) Acidic
/J’?’( st (4) Basic
@) a0 (5) Not attempted
(5) T TE o = .
17. The normal temperature of human body 1s :
17. ﬂg&:ﬂamaﬂm-ﬂmﬁm%: 1) 98.4°C
o g:;ﬁ,;c (2) 98°C
"?y 35°C (3) 35°C
4 37°C 4) 37°C
(5) ARl o =ed (5) Not attempted
18, Frefefiaa § 4 %9 TR % g9 @ 3 GEEW FCT | 18, Which of the following helps in clotting o
€7 - : blood ?
weeed (1) Platelets
/:;: e T Fifernd (2) White Blood Cells
TesirenfaA {3) Haemoglobin
5 wfornd (4) Red Blood Corpuscles
. e (5] Not attempted
(5) s AE & e
T qAEF 9 19. Which is the most common carrier ol
Ep. il w1 Fﬁﬁ e hid communicable diseases ?
(1) FEMH-TET T——
(2) & 2)  Ant
3) ﬁﬂ“ﬁ* (3) Housefly
(4) oA (4)  Fruitfly
(5) @A & A (5) Not attempted
HANTV / F2 7 @1 & 1410 %2rmel / SPACE FOR ROUGH WORK Page 5
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20. F yenfagt
S fad A @ o € 3% | 20
S Fed ¥ known as : Pay,
(1) Hehdlg— (1) Endangered |
,[2] wnfys (2) Endemic
(3) gew (3) Rare
(4) (4) Extinct
) ?{Ejﬁ A (5) Not attempted
21. Frof 3 Sy 21. {E;;Iectlthe non-metal from, ;,
(1) e 2) Sr;,t;lium i
@ mﬁsﬂ 3] Sulphur
A3) W (4) Copper
(4) d&n (5) Notattempted
(5) SO TR & =
22. Match the items given in ¢
22, ST - 17 fEu T TS e - 1 R T A tose in Column -1~ i
1Y FAfed I | 8
I (A) Chloroplast Mm
11 v
&) TR e B o .
B) (1) oEstrer STe (C) Cuscuta () Lex
(C) ;:ﬁ‘aﬁ () T (D) Pitcher plant  (IV) i
D) . for=Ren FHiew o
Fﬂ’ f : V) &t gl ﬁf;uns{i the eorrect options hflq:
(1) [A]-{IEII], {:BI- 1, (C)-aV), D)- )=(111), (B)-(11), (C)-(IV), DI
I A e @) (A)-(m), (B)-(1mD), (C)-(), (011
‘31 ? {Mt{m]’ EBI_I :?= .--:.__._._',:__‘_‘-‘ !E"E‘i{ - ':'3} [A]"m-j_:h {B]'[I]- [CJ'{[”- '|D:='| L
(@) (A)-{m), (B)-1), (€)-0) (DH V) () (A)-(I11), (B)-(1), (C)-(0, (DA
(5) I Al =Ted (5) Not attempted
23. :x- 1 7 g g HE I <RI - o1, % feg o wef | 28.  Match thelitems in Column - I
I | 11 gt .
() ferare) = T e I
B) FIRERH 1] T (C) M:JP:;I-US R = e
(C) 1) e (D) Wheatliuat E!I‘Elj pr
g:;é ﬁqﬁiﬂf H ﬂ'ﬂﬂ'ﬁﬂ‘ ma{r Eel}ﬂﬂﬂe the correct answer i
faapedl 1 = FIG, : ow :
1) (a)-am, (8)-), (©)-0V), (D)1 ({0) (A)-am), (B)-(m), ©-1V)
(2) fﬂl*{}}. [Eg-ﬂlﬁl- ‘{:CJ-IIIJ, (D)-(IV) @) (A)-[, (B)-(111), (C)-(11); o
ORGRCAC AR B AR, @0, € [
kb e
pLe
e .
ardl & ferw 21 | SPACE FOR ROUGH WORK E
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24,

25.

26.

27.

2

HANTV /F2

8. ﬁﬂmﬂﬂﬁmmmﬁmﬂmwﬁt?

ﬂﬁuﬁﬁﬁmnmaﬂgﬁsa‘ﬁﬁﬂmﬁf

TS TRR 2t |
AT) 20 feHL s :
(2) 500 f&H. /=
(3) 20 Hi/HA
(4) 20 ey
(5) SR TE & e
ﬁmﬁ%ﬁﬁﬁm—mmmwﬁwm‘é?
(1) =@
(2) ST
(3) TS
et
(5) SR & Twd
Tt i T & O Bl €
(1) f=EEAC
) TEf@ED
(3) A
AA) fazfmTB
(5) FE A
ﬁ:ﬁﬁ@ﬂﬁ#ﬁm&ﬂﬂﬁzﬁ%mﬂﬁaﬁéﬁ
%’,f?r%_____mm%l
(1) Tt
2 W :
TS ;
(4) vETER
(5) IR A & =Ed

24.

251- A

26.

28.

If a body covers 100 km in 5 hours its speed
will be :

(1) 20 km/hour

(2) 500 km/hour

(3) 20 meter/hour

(4) 20 centimeter/hour
(5) Notattem pted

Which is the best conductor of heat from the
following ?

(1) Silver

(2) Aluminium
(3 Wood

(4) Kerosene

Not attempted

()

Night blindness is caused due to the

deficiency of :

(1) Vitamin C
(2) Vitamin D
(3) Vitamin A
(4) Vitamin B
(5) Not attempted

Cockroach breathe through network of air
tubes called

(1) Diaphragm
(2) Stomata

(3 Gill

(4) Trachea

(5) Not attempted

Which of the following is mot a deficiency
disease ?

/fﬁ Ll (1)  Goitre
(2) A (2) Scurvy
(3) A (3] Anaemia
(4) wARE (4) Malaria
(5) I T & = ~(5) Notattempted
7 @19 o fe10 2T | SPACE FOR ROUGH WORK Page 7
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29,

ﬁﬂrﬁ-lﬁaﬁﬁﬁﬁqmmamhmﬁ@m%?
(1) %

/&fn‘nﬂ

(3) 9=
4 =4
(5) I T < =R
30. hIoW - 1 ¥ U T e 9t wrem - 11, fro s
%'ﬂmﬁﬂfﬁﬁ i
I - (9ras 3 ) I - ( wiewar)
(A) CIEERCind
(B) Iort =1 fareires
(C) I = SFEgi
(D) ; LG
wE ﬁ?ﬁqﬁﬁt{ -
(1) (A)-(ITn), (B)-(IV), (C)-(1), (D)-{I1)

~SE

31.

(A)-(1m), (B)-(tv), (C)-(), O)-()
(3)  (A)-(IV), (B)-(I1I), (C)-(T), (D)-(11)

(#)  (A)-IV), (B)-(1), (C)-(111), (D)-(11)

(5) IR Tl o =

3 FEA 3 39 a1 3 Fremd (1) & (m) fau e
feu U Fl F1 T TE 80 IR S 9HE T a6
& ot @ =i 7 welta 9 o, Faka = o e
T fem o e 3 SMYR R TRETE w9 | freem
/e &1

w:  F9F0 AR
9 wefeal 94

fremd: () FOFAEAE
m Fe e FE

(1) e (1) @i () 3 e €

e o T e

(3) Had A (1) Ll T
4) waa e (1) e § )
(5) @ ¢ A e

29.

30.

a1,

The planet which appears reddish in gy,
is :

(1) Venus
(2) Mars

(3) Earth

(4)  Mercury

(5) Not attempted

Match the items given in Columa - T vy,
those in Column - I1 ;

I - (Digestive Organ) II - (Process)
(A) Small Intestine (I) Chewing of foqq
(B) Large Intestine (IlI) Churning offoog
(C] Stomach (I1I) Absorption of

food
(D) Mouth (IV) Formation of
faeces

Choose the correct options below :
(1) (A)-(I), (B)-(IV), (C)-(T), (D)-(II)
(2)  (A)-(Im), (B)-(IV), (C)-{), (D)-(1)
(3)  (A)-(IV), (B)-(II), (C)-(1), (D)-(11)
(4, (A)-(V), (B)-(1), (C)-(I1T), (D)-(11)
(5) Not attempted

Two statements are given, followed by 0
conclusions (I) and (I). Assuming t
EtalﬂI]ElE’ntS to be true even if they seem to
at variance from the commonly known facts
decide which of the conclusions logicall!
follow(s) from the given statements.

Statements: Sope dogs are fishes.
Some fishes are birds.
M  Some dogs are birds
(M) Some birds are dog*
(1)  Both cunclu_.aiuns (T) and (I1) follow

(2)  Neither conclusion (T) nor (1) follows
{3) Only conclusion (1) follows

(4)  Only conclusion (I1) follows

(8] Not attempted

Conclusions :

HANTV [ F2

mm{ﬁsmmf SPACE FOR ROUGH wﬁi—'_‘“‘—*ﬁ?


Guest
Rectangle


32!

33.

34I

36 faseq #1597 =L 0 Fr ol 78 | 46 vhr et
& 9 THU v Ee v | Hafkd €1
W:ﬂéﬁﬂl::ﬂﬁl:_ P
(1) @i
(2) REES
=
(4 =
(5) TRl < |Rd
fawm =1 977 Fifaui
() e
()
(B8) HIR
i
(5) SO TRl o SEd

I Sl el TE i AoTarey w9 Y
T dEnE ¥ 30 g9aeE 1 999 H 90 s
el &1 afte FT W UE A9 7 = |

R T e P R SO

§: . B, 35 AN BiS i

(1) 3,54,2,6,1
2,6,3,1,4,5
B 54,2163
4) 3,5,6,2,4,1
(5) o E o =%

35, ufz us fafeaw F & ‘MUSSOORIE’ 1

‘OTURQONTHG’ feven = &, i <eft gewmon #
‘DELHI’ %1 7 feran smgm ?

32.

33.

34.

Choose the option which is related to the third
term in the same way as the second term is
related to the first.

Mosquito : Malaria: : Rat: 2

(1} Rabies

(2) Typhoid

(3) Plague

(4) Dengue

(5) MNot attempted
Find the odd one out.
(1) Sparrow

(2) Parrot

(3) Pigeon

4 Kiwi

(5) Not attempted

A set of English letters is given below in a
jumbled order. Select the combination of
numbers so that the letters arranged
accordingly form a meaningful word.

L N S5 A I G
1 2 3 A8t 5 6
1) 3,5,4,2,6,1

2 2,6,3,1,4,5

3 5421,6,3

4 3,5,6,2,4,1

(5) . Not attempted

If in a certain code language MUSSQORIE’ is
written as ‘OTURQNTHG’, then how will
DELHI’ be written in that code ?

(1 FCNFK ) PN
(2) FCNGJ (2 FCNGJ
(/m FDMGK (3) FDMGK
(4) FDNGK (4) FDNGK
(5) SWE & e (5) Not attempted
HANTY / F2 2w 1 & fere 2417l | SPACE FOR ROUGH WORK Page d
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36.

37.

RAUEL B o TR ———
A*BHRI SR 'B Am B &
ASBHR A4 %, 'A Batost 2
AHBR ST ‘B AFIqad|

WPSQ* R4S At o T 4 1 o
qaE?

(1) R,Q#*fimE,
3) S PETE
)" R,P*Hﬂl’%i
(5) IR oA e
AW AN A GATR 2 w1 9w i
195 05,5, o 2 1 g
5' 25’ 125
{1y =i
B 2
w{‘l} -1
(5) SRS A =ed
A 24 m =T F ST 7o F 90 9 3 gew

38.

39.

24mﬂﬁfﬁ%m’ﬂﬁ¥mmﬁﬂgﬂiaﬁt1ﬁ
m T &1 T 98 3T 9 g 24 m O ¢
[t 318 97 AR fag & e gt 9o o fom
qg?

(1) 40m,3W

(3) 32m,3W

(4) 48 m, UR=H

(5) I el & wwed

#EfEP, O, R, S, T 3 U TR 3N e Hh Th
ﬁﬁﬂﬂ’uﬁ_iéﬁ?mﬂﬂﬁﬁtﬁaﬁmﬁﬁn
p o ad A R EFE S E QT H I A
@&t ain s, U A SR E Q' F TR
FAE?

36.

37.

39,

Read the following information to answe;
question below :

A * B means ‘B is the brother of A",

A & B means ‘A is the wife of B

A # B means ‘B is the son of A",

If P$ Q* R # S’ then, which of the follow,,
statements is true ?

(1) R is the father of Q

(2) S is the nephew of Q

(3) S is the son of P

(4) R is the father-in-law of P

(5] Not attempted

Find the missing term _ ?  in the serje;

1.1 1

aEE o = s
(11

@ -2

(3 2

Gl

(5) Not attempted

Sarita walks 24 m towards West, then tums
to her right and walks 24 m and then turns ¢
her left and walks 16 m. Again she tums
her left and walks 24 m. How far and in whic?
direction is Sarita from her starting point?
(1) 40 m, North

(2) 40 m, West

(3) 32 m, North .

(4) 48 m, West

() Not attempted

Six friends P, Q, R, S, T and U are standing "
a row facing North but not necessarily in 4
same order. P’ is to the left of T" and 0 %*
nEht of R, ‘Q‘ is on the right of T’ but to
1ef1: of 8" who is to the left of U’. Who ar¢
neighbours of ‘Q’

m TS (1) Tands
2 “EHR @ PandR
{ T#TU @) Tandu
(4) P#mT 4 PandT
(5) 3 Tl & wEd (5] Not attempteq
HANTV / F2 7% @1 (10 #rer | SPACE FOR ROUGH WORK e !
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40. Gty &7 wAfEA e TER & e gEer R
<ot e a1 e i e = Teen dER R 1 fE

& srfeq = feviws T &2
(1) 22
2) . 15
8 23
(4] 21
(5) IR T & =
41. {ﬂ.sxﬂ.5+ﬂ,5+5jw%:
) 035
(2) 0.45
(3] 0.15
0.25
(5) S AE & =
4. FAEENE 2p, 5paAMT7 pH LCM. 2
(1) 75p
Ak 70 p
@3 70p
[4) 65p
(5) T 4 =

43, femufoim 3%% Fifte T A 2% ST T AR

WL 21027
2,800

2) 2,500

(3) ¥1,580

(5) e & =

44, fz o b fom guls € @ Fe § § FA-W T
27
() a+0=0+a=a
(2) a-0=az0-a
(3) a+h=b+t+a

=

B maﬂﬂmﬁ

41.

42.

Privanka’s birthday falls on the third Friday
of a month. The fourth day of that month is
the first Monday of the month. What is the
date of Priyanka’s birthday ?

(1) aand
(2) 1 5713
(3) 23
(4) 21st

(5) Not attempted

(0.5%0.5+0.5+5)isequal to:

(1) 0.35
2) 0.45
@3 0.15
(4) 0.25

(5) Not attempted

The L.C.M. of three numbers 2p, 5pand 7 p
13

(1) 75p
) 70p°
(3) 70p
(4) ®BSp

(5) Notattempted

For which sum, the simple interest at the rate

1
of 3%%p~ermmum will be T 210 in 25 years ?

(1) %2,800
(2) 2,500
(3) ¥1,580
4) 2,400

(5) Not attempted

Ifa and b are two distinct integers, then which
of the following is incorrect ?

(1] a+0=0+a=a
(2) a-0=a#0-a
(3 a+b=b+a
(4f a-b=b-a
(5) Not attempted

HANTV / F2
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47.

o w5 7 TR 3 11 77 4 e e
ST & TUTEN! 90 o 7 gt o 3
(1) 1w
(2) 2:3
2:
W 5:11
(5) I T wm
) m@“’miﬂﬂﬁm#ﬁs%ﬁamh
Wm*’iﬂﬁmﬁaﬁma:
(1) 13:8
SRR 13009
(3]~10:13
_/14{\8:13
(5) W TRl & =
10 mx 10 m x 5 m famaff a9y 8 vt o oy
Tl T W o 9 o
(1) 1042 m
5/3m
() 15/3m
(5) SV @l < e
o =l §, T 800 i Uf¥ 10% SiftF whafs =
#1 2 9, T 926.10 B IR FaF = Wia SHE
Ao e e ?
(1) E%Tﬂ
(2) Eé‘uﬁi

_";I ah

(5) 3 A &N A

45,

47.

A certain number is divided into 1y,

guch that 5 times the first part ade, ':I;Ir"l
times the second part makes 7 iy, |I
number. The ratio of the first pary ”.. |

second part is

(1 1:2
) 2:3
(3) 2:1
(4) 5:11

(5) Notattempted

Half of a certain number is equal to 5
the second number. The ratio of the g,
number to the second number is :

(1) 13:8
(2) 13:10
(3) 10:13
(4 8:13

(5) Not attempted

The length of the longest rod that can be placy|
in a room of dimensions 10 mx 10 m %5 mis

(1) 1042 m

2] 5J3m
(3) 153 m
(4) 15m

(5)  Not attempted

In how many years will a sum of 7 800 at 10
per annum compound interest, compoundet
semi-annually become ¥ 926,10 ?

1

1) 23 years
2) 9% years
(3) 1% Years
(4 1% Years

(5)  Not attempte

HANTV / F2
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o0 wiiex 7 wen wEh & fuasor 7 g A R
arqam 3 : 1 1 v fvAm 7 fea gy afiy aren s

iy T ST 4 : 1 W2

49.

() s
(2) 6
'/mr” 7 #e
4) 4 FR
(5) IR & AEd

@

(5) =R A€ & e

51. e i =g o1 e e 39 %4 A % byl

49,

50.

51.

200 litres of 0 mixture containg milk and water
in the ratio 3 ¢ 1, The amount of milk o be
acleded to the mixture s as Lo make the ratio

4:1,1n:

(1) 5 litrea

(2) 6 litres

(3) 7 litres

(4) 4 litres

(5) Not attempted

0,2 %02+ 0.0}
0.1 %01+ 0.02

jves ;

Simplification of

1
m =
9
2 T
5
fa
41
s

(5) Not attempted

4
If the selling price of an article is 3 times its

cost price, then the profit % in the transaction

§ Mo R g wy wiovm B is :
1 1,
(1) 255% (1) 255%
' @ 331%
3
2 2
(3) IEE% (3) lﬁa‘%
(4 2{}1% (4) 2()1%
2 2
(5) == =f 2 = (5) Not attempted

HANTV / F2
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52. ATE =0 g ]T W10 e H wwwam d, p o
maﬂqﬂ%mmﬁzﬁﬁam%mcaﬁﬁ

1 i lﬂ'fiﬂ H.' B. - | i
52. Acando 2 of a work In y Ny g

: |
n 20 days and C can do 3 o

1 , ki
w1 3 qr ISﬁ?ﬁﬁm%i = A = D“hcw?;dl Who can complete the |
' avs. = = Wil
R T F T 0w s i thme ? |
1 c : 1
A T C g1 (2)  AandC both
& A 3 A
4 B .f4] B
(5) IO & = (5) Notattempted
53 MR (@+d) : (b+o) i (c+a)=6:7: 8 7 53. If (a+b) : (b+c) : (c+a)=6:7:8;4
at+b+c=14 %,?ﬁc%‘: a+b+c=14,thencis:
(1) 8 (1} 8
2] 14 F 2] 14
T
4 7
(5) I & =9

(3] Notattempted

=R A T SG,GﬁD |
54, A, BUwCH T il 54. A, B and C together invested ¥ 50,000 is

Iz A3 B A 74,000 HeF AT AN B Y C business. A invested ¥ 4,000 more than
7 5,000 #fys M, @ T 35,000 F F AV H and B invested ¥ 5,000 more than C. Outo
AT % ¢ total profit of ¥ 35,000, A received :

A 213,600 (1) 13,600
2 714,700 (2)  ¥14,700
(4) 11,900 4 T11,900
(5) IW &l A = (3)  Not attempted

wF F1 1 Fee H 20 Her Tor 81 fdl/da | ss, A car goes 20

metres in a second. lts 5P

g A T : in km/h is :
1) 3 (1) 36
(2) 20 2) 20
12 : 4 72
(5) I A A ed 5)  Not attempgeq

HANTV / F2 2o w1t @ foT0 2ere | SPACE FOR ROUGH WORK o
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Choose the alternative which best expresses
the given sentence in Active Voice.
The invitation cards will be sent today.

They will be gending the invitation

cards today. _
They will send the ipvitatmn cards

today-

They will sent the invitation cards today.
They will have sent the invitation cards
today.

Not attempted

(2)

(3)
(4)

(3)

7. Choose the most appropriate alternative to fill

in the blank.
The noise comes from the river.
(1} over
’{21' across
(3) against
(4) besides
(5) Not attempted

8. Find out the correct indirect speech of the

following sentence.
He said, “Do you know German r

61. Pick out the synonym of the underlined word

in the following sentence.

The cellphone industry has ushered a new
phase of communication.

(1) heralded

(2) -ollapsed

completed

given up

Not attempted

(<)
(5)

Fill in the blank with the appropriate option
given below.

62.

If you no confidence in self, you
are twice defeated in life.
/,(-11 have
(2) having
(3) has
(4) hadnot
(5) Not attempted

63. Choose the alternative which best expresses
the meaning of the underlined idiom.
He had to confess his crime because he was

1! He asked me if I knew German.
}2} [ asked him if he knew German. caught red handed.
)}T He asked me to know German. (‘g/’-‘ﬂught very late
(4) He asked me if he knew German. Caught while doing the crime
(5) Not attempted (3) Caught sleeping
(4) Caught easily
9. Find out the part of the sentence which has (5) Notattempted
an error.
If he is a millionaire, he would help 64. Pick out the correctly spelt word.
(&) (b) */[,'H" minipulation
the Millennium Project in the future (2) manipeulation
(© (@ BRI
1 (© (4) menipulation
2 @ (5) Not attempted
@) (a
DFQ/ (b) 65. Choose the most appropriate option to fill in
| Not attempted the blank.
Many beggars sat the wall of the
80. Find out the antonym of ‘absurd’. temple.
(1), sane (1}  along
vﬂ]ﬁ refuse in
(3) silly (3) on
)} anxious (4) besides
5) Not attempted (5) Not attempted
B
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66. ffafn
e mmﬁmmﬁmm T1. ﬁﬂfﬁﬁﬁﬁﬂﬁﬁﬁmmﬁmwtﬁ”
@ @W!ﬁtmw' (2) @&
@) Rz, A _pr
M T o g (@ @
6 IR 5 T
or. lmwﬂﬁﬁ’wﬁm T2. 'ﬁgﬂﬂﬁ‘qﬂﬁlﬁﬁﬂ'@aﬂﬁﬁmmt:
fere walfrss s v e (1) ¥ faeg AW A
— ﬁ"'“"""‘i 2 e
5 i (3) =1 3 AR i ger
- Pyt (4) ¥ FRO B, A HE
. (5) ST @ ="
(5) IR IR
il - m‘?m“ﬁﬁﬂﬁﬂ:ﬁ%?
68. ‘38 st oy ke vt ¥ .
a1 % Yiia v ¥ fo et Svga vatgar g
T8 =
i (4) =
E’ ﬁ (5) IFH & =
4) H
:5: I T &1 e e rmmﬁﬁﬂﬂmaﬁq—mﬁ@mﬁm
60, ‘e i A i TEren’ R I A {;l IR e
(1) defAFsE (2) -
(2) = g o fR A 3R ¥ 3
(3) i IREH FT @) @ af
@ s = 6 A 3w
(5) 7 & =ed e
- Wﬂﬂq_mﬁm -EEEF'
70. *mﬂ'mmaﬂfﬁﬁimﬂ‘m—ﬁﬂﬂ%: & FHFRE w1 TE
(1) e+ Hd ) % i g
(3) w+uH 3) m‘iﬁ*mg
(4] q*ﬂﬁ ‘/H-] _ﬂgﬁam.
(5) I A & A 5) i
HANTV / F2 mmﬁﬁﬁvm;smcgmM
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76.

7. Wﬁmﬁaﬁw%ﬁﬂﬁﬁﬂﬁﬁaﬂm

8. EREN F1 AHT SAEEAT T F FA TTHSA B

79. gfamn @i v # faerd &7 & fa wfes e

mﬁ'mﬁmnﬁ'ﬁwfﬁm

sy 3 T R il By gfee fae T 2
5,300

(2) 4,200

(3) 6,500

(@) 6,000

(5) ST M

w faar AT
() ¢ 719, |riea o feud €1
v TEHHATE s
sl § A BT/ F o W Y/T?
(1) (@) 3 (b) A
(2) AW (a) AR (D)

+ad (a)
4 A (b)
(5) SO AE & =

oo fofeT wfeed 2
(1) 50%
A 45%
(3) 65%
4) 55%
(5) <o E &M =ed

76.

77.

78.

79.

How many villages are approximately covered
currently under the scheme ‘Mahara Gaon -

Jagmag Gaon’ in Haryana ?

(1) 5,300
2) 4,200
(3) 6,500
(4) 6,000
" (5) Not attempted

Consider the following statements in respect
of Motilal Nehru School of Sports.

(a) It is situated in Rai, Sonipat.

(b) It is affiliated to CBSE.

Which of the above statement/s is/are
correct ?

(1) Both (a) and (b)

(2) Neither (a) nor (b)
(3 (a)only

(4) (b)only

(5) Not attempted

What is the approximate percentage of rural
population of the total population of

Haryana ?

(1) 5S0%
(2) 45%
(3] 65%
(4 55%
(5) Not attempted

Bhainswal Kalan, famous for giving sportsmen
to Haryana and to India is situated in which

o fea foe § feem 72
\)H For district ?
Ao (1) Bhiwani
& 2 (2) Sonipat
A (3] Rohtak
@ wom (4) Karnal
(5) @A & wmEd (5 Not attempted
Page 17
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Which one of the following places i

80. frmfofn 3 2 ain- S 80.

faenfeat & foau ;: ;;T ;T e g for Indian Women Hockey players ?

- ' (1) Panchkula
f)(g./ e (2) Shahbad
. (3) Faridabad

,/w, TR (4) Gurugram _

(4) TEIW (5) Notattempted

(5) I TE I = :

g81. Consider the following statements,
g81. fFrafafan wuel « faar i) (a) Masani barrage is in Rewari di
(&) wE e et et () Kaushalya Dam is in Pinjore.
(b) mﬁﬂWﬁﬁWﬁ%r Whiczt;f-the above statement/s ;
: L corre
svieq § & FF-T/F T w2/ (1) Both (a)and (b)
(a) 3 (b) ZF (2) Neither (a) nor (b)
) A7 (@) dRTH D) (3) (a) only
(3) e (a) (4) (bjonly
(4) ad (b) (5) Not attempted
5] IH
(5) el o Ted 82. L\Fhich of ;he following is not a dance for
. aryan
82. ﬁﬁﬂﬂﬁﬂ--maﬁmﬂaﬂﬁ@qqﬁ%? ) La::::r
Iy & (2) Khoria
g 12 AR @) Talghadi
(@) T (4) Phag
(4 @ (5) Not attempted
(5) S & A 83. In which |
fledged Sti::l'; Haryana was made as '
g3, feamon fog a i T 17 o e
o U 2 1963
(2) 1963 e
(3) 1962 R
) 1966
(5) SOl & e (5] Not attempteq
84. How :

84, zﬁmﬂnﬁﬁsaﬁﬁaﬁmﬁafﬂ@ﬁt? many Vidhan Sabh -
(1) 92 illem in Haryang 2 a Constituenc’®
- 2 o
(3)

a/; B) 88
(5) I AL &A1 WE ::: 90
Not

T SPACEFOR RO
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freffafaa § w1 99 <irer e & o qd wewil f | 88, Who amongst the following former UPSC
ﬁgﬁﬂ‘i‘ﬂ'ﬂw% WWI‘F‘T ¥ arfasmrt gl;{;l::grs was an [AS Officer of Haryana
x : (1) Mata Prashad
J (2) Subir Dutta
’9/' i (3) P.C.Hota
@ W L (4) S.K. Mishra
) wtﬁﬁ; oo (5) Not attempted
Ll S
PR L e
AL (1) The Yamuna system
&) !TTTIEMTE'PI - (2) The Indus system
A2) g somedt . (3) The Bhakra system
¥ mﬁ;.!: | j (4) The Lift system
:: '::E P (5) Not attempted
R e o BT sper e L A R
e 3 Y HE1 I € 2 Rajasthan ?
(1) TR | (1) Hissar
o &= - (2) Sirsa
@) _ ¥ (3) Kaithal
@ _ . (4 Jind
(5) I & < (5) Not attempted
p Lﬁ“ﬁ; girs o AT L 88. The State Animal of Haryana is :
(1) Camel
: l21. e (2) Tiger
Lg/:?;‘w (3) Black buck
5) T e (4) Elephant
(5) Not attempted

HANTV / F2 —5 @12 36 1210 zaimet | SPACE FOR ROUGH WORK Page 19


Guest
Rectangle


89. ffafas i 4. 89.
A b iy
(1)~—m+
(2) =
(3) W
4 =
(5) W T T ==

90. R g S=rita st el omfim &7 o
(1) g
(2] F™
(3)

(4) wi=
(5) I & A

91. ‘Fifd ' QEER v F1 fr wwArh w9 0 91,
Tt <t et & 2
A" 275,00,000
(2) ¥25,00,000
(3) ¥51,00,000
(4) T1,00,00,001
(5) SO TE o =

92. TH= worA % el safed & ? 92,

t,uf I, e
&%, fiart
{31 firwed, FEa
(4) femn
(5) I o e

03, A v e g H ) svafeaa €7 =
(1) fomr
(2) T
(3 TEFA
(4 TEE
(5) m?ﬂi‘mmﬁ

HANTV /F2 75 aorel 3 o 2t | SPACE

FOR ROUGH WorRK |

Which amongst the following is not ,

Haryana’s traditional attire ?
(1) Daaman

(2] Chorno

(3) Pagri

(4) Chunder

(5] Notattempted

Where is Bir Shikargarh Wildlife San,
located ?

(1) Panchkula
(2) Karnal
(3) Kaithal
(4) Jind
(5) Not attempted

What is the one-time cash amount g
the *Kirti Chakra” awardee ?

(1) ¥75,00,000
(2) 25,00,000
{3) %51,00,000
(4) ¥1,00,00,001
(5] Not attempted

Where is Chinkara breeding centre locat

(1)  Morni, Panchkula
(2) Kairu, Bhiwani
() Pipli, Kurukshetra
(4}  Hissar

[3)  Not attempted

W
here is Indian Inst:tute of Manage™

located in Haryang
(1)  Bhiwan;
(2) Karna]

) Panchkyg
¥ Rohtak

(5)

Not attempgeg
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94. Two most important

. monuments of th
‘The LAT { tF e State
b and the H ;
m H T fm'ﬂ % { {iestnd &t whish :I‘aml.l?mny un Mﬁ.‘i[.un are
(1) ﬂ?@ﬂ (1) Kurukshetra
2) “RTER (2) Naurangabad
(38) TEER (3) Fatehabad
e[ (4) Mahendragarh
5. 99 We F TEar I ﬁﬁf"ﬁ g fie E|g+l 95. Identify the place where Guru Gobind Singh
JreTEt & T T8 & 9% 52 e ol 0 stayed for 52 days after the battle with Hill
Kings ?
(1) sEar e :
(1) Dhamtana Sahib
TeaI TE H .
@ (2) Gurudwara Lakhan Majra
S (3) Gurudwara Kapal Mochan
v gl Sk N : @) Gurudwara Damdama Sahib
6) TR (5) Not attempted
T = e gs Fretatee § | feas o
3 5 = = 06. The Third Battle of Panipat took place
b b between :
AL e S e e (1) Shah Alam and Muhammad Shah
(2) e i fig o st (2) Guru Gobind Singh and Aurangzeb
(@) feT g SR A (3) Nadar Shah and Aurangzeb
(4) STeTR WE ST S H (4) Ahmad Shah Abdaliand the Marathas
(5) SOl & = (5) Not attempted
97. W e F1 Fr-W faa W9 98 F AT | 97, Which day of every month is celebrated as
el H sifvre " % w9 H wAw S e ? “Tithi Bhojan Beti Ka Janmadin School me
- . Abhinandan” ?
— (1) 3w Tuesday
. es
@ e TR
: (2) 4t Tuesday
(3) HEE HRTEaR
i (3) 1%t Tuesday
4 HIEER
(4) Wﬂﬂ#ﬂ (4) 2nd Tuesday
[ (5) Notattempted
. HANTV / F2 2% 14 & 1810 2217eT | SPACE FOR ROUGH WORK Page 21
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e India’s Environment Repy,
Do -

98. WA H yalm fidi
. 2022 ¥ S{ER waa fawm | 98- As per th
what 18 the rank of Haryana g
g Sustainable Df."ul'elopmn;:;"

o8 (THE- T
ﬂa’f—mnm%?mam bt b ade achievin
(1) == |SDG-2D301 ?
@ st i
2} Eth
(5) Mot attempted

(5) I TR < =

g9, Consider the following statements ,

99, sftam o=+
U T A - favan d9e
Faid Widow Pension Scheme - a State Schy
the Government of Haryana. '

frafafes FuHi w fa=m Fife)
(a) 21
. gﬂﬁaﬁ 3R T0H aifuw g =i Afeen T 21 (a) A _w:::man of age 21 years and aby
) Z 1,800 Wi 5re w1 famn s 81 eligible.
TydEa | - If-'f‘eFﬂ‘-‘f @ (b _ It carries an allowance of T 1,800p
(1) {a]afrtfb]fﬁf Wﬁ:ht;f the above statement/s s
2 C C
: ) Hl [E[J ]ah T (b) (1) Both (a) and (b)
a (2) Neith
(4) a4 (b) _ (3) [a?lunf; G
(5) I & (4)  (b)only
(5) Notattempted
100. wmaﬁmm’tmﬁ.ﬁ) Fad frafefEd | o0 _

e AR FSTL | . E?;?%E; the following statements about
@ e A, e FTa . @) GEIEESUC BSOSVt |00

& s B Ka:npat:fkgfiryan& is more than th
(b) TqERATE &l Gﬁqﬂﬁﬂ wfemn ¥ o TH.EL . (B) GSDP of Maharashtra is more tha?

g s &1  of Haryana, s
Eq'dﬁﬁﬁﬁﬁﬂ-m;ﬁ o TR BT 7 Whm:t gf the above statement/s
a) (a) IO T (1  Both (a)a
2 7 T (a) i = # (b) _ (2)  Neither |ar]1d -

n
(3) a9 (a) (3)  f(a) only B
(b) (4] (b)only
(5) =W e &A1 e (5] Not attempted
.00~
-00o0-

o @rel & fere 2enet / SPA \—\_/-’/
CEFO
RROUGH WoRkK pa
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